

Jñānābha, Vol. 37, 2007

(Dedicated to Honour Professor S.P. Singh on his 70th Birthday)

ON APPROXIMATION OF A FUNCTION BY GENERALIZED NÖRLUND MEANS OF ITS FOURIER SERIES

By

Ashuthosh Pahak, Murtaza Turabi

School of Studies in Mathematics, Vikram University, Ujjain, Madhya Pradesh
and

Tushar Kant Jhala

Department of Mathematics, Government Postgraduate College, Mandsaur-
458001, Madhya Pradesh 458001, India

(Received : July 17, 2007)

ABSTRACT

The aim of this paper is to establish a theorem on approximation of a function by generalized Nörlund means of its Fourier series which generalize several previous results.

Keywords and Phrases : Fourier series, Generalized Nörlund means.

2000 Mathematics Subject Classification : Primary 42A24; Secondary 42B08.

1. Introduction. In 1943, Iyenger [7] proved a theorem on harmonic summability of Fourier series: The result of Iyenger [7] was generalized by Hardy [4], Hirokawa [5], Hirokawa and Kayashima [6], Pati [10], Prasad [14], Pandey [11], Rajagopal [15], Siddiqui [16] and Singh [17], for (N, p_n) summability of Fourier series under different conditions. Dealing with Cesáro-means of Fourier series of a function, Flett [2] has obtained a result on the degree of approximation. This result was generalized by Izumi, Satô and Sunouchi [8] and Siddiqui [16] by using Nörlund means. Working in the same direction, the result of Siddiqui [16] has been extended by Porwal [12], Gupta and Pandey [3] and Chourasia [1]. The purpose of this paper is to establish a very general result than those of Porwal [12], Gupta & Pandey [3] and Chourasia [1] so that their results come out as particular cases.

2. Definitions and Notations. Let f be 2π -periodic and integrable in the Lebesgue sense. The Fourier series associated with f at a point x is given by

$$\frac{a_0}{2} + \sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx)$$

where a_n and b_n are Fourier coefficients of f and are determined by

$$a_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos nx \, dx \quad (n \geq 0)$$

and

$$b_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \sin nx \, dx \quad (n > 0).$$

Let (p_n) and (q_n) be sequences of positive constants such that

$$P_n = \sum_{k=0}^n p_k, \quad Q_n = \sum_{k=0}^n q_k, \quad R_n = \sum_{k=0}^n p_k q_{n-k} \neq 0 \quad (n \geq 0)$$

where P_n, Q_n and $R_n \rightarrow \infty$ as $n \rightarrow \infty$.

■ $\sum_{n=0}^{\infty} a_n$ be series whose n^{th} partial sum is denoted by S_n .

Write

$$N_n^{p,q} = \frac{1}{R_n} \sum_{k=0}^n p_k q_{n-k} S_{n-k}.$$

If $N_n^{p,q} \rightarrow s$ as $n \rightarrow \infty$, then the series $\sum_{n=0}^{\infty} a_n$ or the sequence (S_n) is said to

be summable to S by generalized Nörlund method. We write for each real x ,

$$\phi(t) = f(x+t) + f(x-t) - 2f(x)$$

and τ or $[1/t]$, the integral part of $1/t$ in $0 < t \leq \pi$.

3. Main Theorem. If $0 \leq \alpha \leq 1, 0 < \delta \leq \pi$ and x is a point :

$$\begin{aligned} \Phi(t) &= \int_t^\delta |\phi(u)| \frac{R_{[1/u]}}{u} \, du \\ &= O\left[\{R_{[1/u]} h(t)\}^\alpha \right] \text{ as } t \rightarrow 0, \end{aligned} \quad \dots(3.1)$$

where

$$\{R_{[1/u]} h(t)\}^\alpha \rightarrow \infty \text{ as } t \rightarrow 0, \quad \dots(3.2)$$

$$\int_0^t \{R_{[1/t]} h(u)\}^\alpha \, du = O\left[t \{R_{[1/t]} h(t)\}^\alpha \right] \quad \dots(3.3)$$

and $h(t)$ is a positive increasing function such that

$$h(t) \rightarrow 0 \text{ as } t \rightarrow 0, \text{ then}$$

$$N_n^{p,q}(f; x) - f(x) = O\left[(R_n)^{\alpha-1} h_{[1/n]}^\alpha \right] + O[1/R_n].$$

4. Lemmas. We shall require the following lemmas in the proof of the theorem:

Lemma 1. Let the sequence (p_n) be non-negative and non-decreasing, then for $0 \leq a < b < \infty$ and for any n ,

$$\left| \sum_{k=a}^b p_{n-k} \exp(ikt) \right| \leq MP,$$

uniformly in $0 < t \leq \pi$, where M is some positive constant not necessarily the same at each occurrence.

For its proof see Mc Fadden [9].

Lemma 2. Let the sequences (p_n) and (q_n) be non-decreasing, then for uniformly in $0 < t < \pi$,

$$\left| \sum_{k=a}^b p_n q_{n-k} \sin(n-k+1/2)t \right| = O(R_\tau).$$

Proof. We have

$$\left| \sum_{k=a}^n p_n q_{n-k} \sin(n-k+1/2)t \right| = \left| \sum_{k=0}^{\tau-1} + \sum_{k=\tau}^n \right| \leq \sum_1 + \sum_2$$

where

$$\sum_1 = \left| \sum_{k=0}^{\tau-1} p_n q_{n-k} \sin(n-k+1/2)t \right| \leq \sum_{k=0}^{\tau-1} p_n q_{n-k} \leq \sum_{k=0}^{\tau} p_n q_{n-k}.$$

Now, since $q_n \geq q_{n-1}$, therefore

$$q_{\tau-k} \geq q_{n-k} \text{ for } n \geq \tau.$$

Hence

$$\sum_1 \leq \sum_{k=0}^{\tau} p_k q_{\tau-k}.$$

By Abel's lemma

$$\sum_2 \leq p_\tau \max_{\tau \leq r \leq n} \left| \sum_{k=\tau}^r q_{n-k} \sin(n-k+1/2)t \right|$$

where

$$\left| \sum_{k=\tau}^r q_{n-k} \sin(n-k+1/2)t \right|$$

$$= \left| \sum_{k=\tau}^r q_{n-k} \left\{ \sin(n-k+1/2)t \cos kt - \cos(n+1/2)t \sin kt \right\} \right|$$

$$\leq \left| \sum_{k=\tau}^r q_{n-k} \cos kt \right| + \left| \sum_{k=\tau}^r q_{n-k} \sin kt \right|$$

$$\leq MQ_\tau, \text{ by lemma 1.}$$

$$\text{Thus } \sum_2 \leq MP_\tau Q_\tau \leq MR_\tau$$

$$\text{since } R_\tau = \sum_{k=0}^{\tau} p_k q_{\tau-k} \geq p_\tau \sum_{k=0}^{\tau} q_{\tau-k} = P_\tau Q_\tau.$$

Combining above results we finally have

$$\left| \sum_{k=0}^n p_k q_{n-k} \sin(n-k+1/2)t \right| = O(R_\tau).$$

Lemma 3. Let (p_n) and (q_n) be the sequences as in lemma 2. Then

$$\frac{1}{2\pi R_n} \sum_{k=0}^n p_k q_{n-k} \frac{\sin(n-k+1/2)t}{\sin t/2} = \begin{cases} O(n) & ; (0 \leq t \leq 1/n) \\ O(R_\tau/tR_n) & ; (1/n < t < \delta) \\ O(1/R_n) & ; (\delta \leq t \leq \pi) \end{cases}$$

Proof. We have for $0 \leq t \leq 1/n$

$$\left| \frac{1}{2\pi R_n} \sum_{k=0}^n p_k q_{n-k} \frac{\sin(n-k+1/2)t}{\sin t/2} \right| = O \left| \frac{1}{R_n} \sum_{k=0}^n p_k q_{n-k} \frac{(n-k-1/2)t}{t/2} \right|$$

$$= O(n) \text{ for } 0 \leq t \leq 1/n.$$

Now for $1/n < t < \delta$

$$\left| \frac{1}{2\pi R_n} \sum_{k=0}^n p_k q_{n-k} \frac{\sin(n-k+1/2)t}{\sin t/2} \right|$$

$$\leq \frac{1}{2\pi R_n} \left| \sum_{k=0}^n p_k q_{n-k} \frac{\sin(n-k+1/2)t}{\sin t/2} \right|$$

$$= 1/R_n O(R_\tau/t), \text{ by lemma (2) and since } \sin t/2 \geq t/\pi \quad (0 \leq t \leq \pi)$$

$$= O(R_\tau/tR_n).$$

Similarly we can prove the third part of the lemma.

Lemma 4. Under the condition (3.1), we have

$$\int_0^\tau |\phi(u)| du = O \left[t (R_{[1/t]})^{\alpha-1} (h(t))^\alpha \right] \text{ as } t \rightarrow 0.$$

Proof. We write

$$\Phi(t) = \int_t^{\delta} \frac{|\phi(u)|}{u} R_{[1/u]} du$$

then by hypothesis of theorem, we obtain

$$\begin{aligned} \int_0^t |\phi(u)| R_{[1/u]} du &= - \int_0^t u \Phi(u) du \\ &= - [u \Phi(u)]_0^t + \int_0^t \Phi(u) du \\ &= -t \Phi(t) + \int_0^t \Phi(u) du \\ &= O\left[t(R_{[1/t]} h(t))^\alpha\right] + \int_0^t (R_{[1/u]} h(u))^\alpha du \\ &= O\left[t(R_{[1/t]} h(t))^\alpha\right], \text{ by (3.2)} \end{aligned} \quad (4.1)$$

Hence, we have

$$\begin{aligned} \int_0^t |\phi(u)| du &= \int_0^t |\phi(u)| \frac{R_{[1/u]} du}{R_{[1/u]}} \\ &= O\left[\frac{1}{R_{[1/t]}} \int_0^t |\phi(u)| R_{[1/t]} du\right] \\ &= O\left[\frac{1}{R_{[1/t]}} \left\{t R_{[1/t]}^\alpha (h(t))^\alpha\right\}\right], \quad \text{by (4.1)} \\ &= O\left[t R_{[1/t]}^{\alpha-1} (h(t))^\alpha\right] \quad \text{as } t \rightarrow 0. \end{aligned}$$

5. Proof of the main theorem. Let $S_n(f; x)$ be the n^{th} partial sums of the Fourier series of f . Then (N, p_n, q_n) means of $S_n(f; x)$ is given by

$$N_n^{p,q}(f; x) = \frac{1}{R_n} \sum_{k=0}^n p_k q_{n-k} S_{n-k}(f; x)$$

where

$$S_n(f; x) = \frac{1}{\pi} \int_0^\pi \{f(x+t) + f(x-t)\} \frac{\sin(n+1/2)t}{2 \sin t/2} dt.$$

Hence

$$\begin{aligned}
 N_n^{p,q}(f; x) - f(x) &= \frac{1}{R_n} \sum_{k=0}^n p_k q_{n-k} \{S_{n-k}(f; x) - f(x)\} \\
 &= \frac{1}{2\pi R_n} \int_0^\pi \frac{\phi(t)}{\sin t} \cdot 2 \sum_{k=0}^n p_k q_{n-k} \sin(n-k+1/2) t dt \\
 &= \int_0^{1/n} + \int_{1/n}^\delta + \int_\delta^\pi \\
 &= I_1 + I_2 + I_3 \text{ (say)}. \tag{5.1}
 \end{aligned}$$

Now $|I_1| = O\left(n \int_0^{1/n} \phi(t) dt\right)$, by lemma 3

$$\begin{aligned}
 &= O\left(n \frac{1}{n} (R_n)^{\alpha-1} (h_{[1/n]})^\alpha\right), \text{ by lemma 4} \\
 &= O\left((R_n)^{\alpha-1} (h_{[1/n]})^\alpha\right). \tag{5.2}
 \end{aligned}$$

Next, we have

$$\begin{aligned}
 |I_2| &= O\left[\frac{1}{R_n} \int_{1/n}^\delta \frac{|\phi(t)|}{t} R_{[1/t]} dt\right], \text{ by lemma 3} \\
 &= O\left(\frac{1}{R_n} (R_n h_{[1/n]})^{\alpha-1}\right), \text{ by (1.1)} \\
 &= O\left((R_n)^{\alpha-1} (h_{[1/n]})^\alpha\right). \tag{5.3}
 \end{aligned}$$

Finally, we consider

$$\begin{aligned}
 |I_3| &= O\left[\frac{1}{R_n} \int_\delta^\pi \frac{|\phi(t)|}{t} R_{[1/t]} dt\right], \text{ by Lemma 3} \\
 &= O(1/R_n) \tag{5.4}
 \end{aligned}$$

by Reimann Lebesgue theorem and regular conditions of summation procees. Combining (5.1), (5.2), (5.3) and (5.4) we get the proof of theorem.

REFERENCES

- [1] J. Chourasia, *A study in the approximation of function by Fourier Expansion*, Ph.D. Thesis, Vikaram University, Ujjain, M.P., India (1993).

- [2] T.M. Flett, On the degree of approximation to a function by Cesàro means of its Fourier series, *Quart. J. Math.* **7** (1996), 85-97.
- [3] S. Gupta and G.S. Pandey, On the degree of approximation to a function by the Nörlund means of its Fourier series, *Vikram Math. Journal*, **VI** (1986), 42-48.
- [4] G.H. Hardy, On the summability of Fourier series, *Proc. London Math. Soc.*, **12** (1913), 365-372.
- [5] H. Hirokawa, On the Nörlund summability of Fourier series and its conjugate series, *Proc. Japan Acad.*, **44** (1968), 449-451.
- [6] H. Hirokawa and I Kayashima, On a sequence of Fourier coefficient, *Proc. Japan Acad.*, **50** (1974), 57-62.
- [7] K.S.K. Iyenger, A Tauberian theorem and its application to the convergence of Fourier series, *Proc. Indian Acad. Sci.*, **18** (1943), 81-87.
- [8] M. Sato Izumi and G. Sunouchi, Fourier series XIV, order of approximation of partial sum of Cesàro means, *Z. Suc. Tuna. M.J.A.*, **35** (1971), 157-194.
- [9] L. Mc-Fadden, Absolute Nörlund summability, *Duke Math. Jour.* **9** (1942), 168-207.
- [10] T. Pati, A generalization of a theorem of Iyenger on the harmonic summability of Fourier series, *Indian J. Math.* **3** (1961), 85-90.
- [11] G.S. Pandey, On the Nörlund summability of Fourier series, *Indian J. Pure Appl. Math.*, **8** (1977), 412-417.
- [12] J.P. Porwal, *A Study in the Theory of Approximation by Special Orthogonal Expansion*, Ph.D. Thesis, Vikram University, Ujjain, M.P., India (1989).
- [13] K. Prasad, Nörlund summability of Fourier series and its conjugate series, *Indian J. Pure Appl. Math.*, **4(2)** (1943), 179-184.
- [14] C.T. Rajagopal, On the Nörlund summability of Fourier series, *Proc. Camb. Phil. Soc.*, **59** (1963), 47-53.
- [15] A.H. Siddiqui, On the degree of approximation to a function by generalized Nörlund means of its Fourier series, **36th Annual Conference**, *Indian Math. Soc.*, Madurai (1970).
- [16] T. Singh, On Nörlund summability of Fourier series and its conjugate series, *Proc. Nat. Inst. Sci., India Part A*, **29** (1963), 65-73.